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NS BR Ry 36,000 HINE FA R 17,000
INST Bl BE 11,000 HINE EH AR 11,000
INST JEl fEx 15,000 FiER B IER 10,000




#E Bl e WEFE | & TR

WE M3 20,000 & e 2 S HEF 11,000
12 NN 1} 90,000 &k = B A 20,000
EEE E 34,000 &k = BE B 110,000
WE  FR3E 30,000 &k = =R KEE 9,000
LN RE 11,000 f& e =E £ 22,000
sk NN 3,000 f& e B 121,000
£ EE 22,000 &k = WH B 22,000
M iy 10,000 &k = RE B- 9,000
A B 26,000 & e & = 11,000
A #iesE 860,000 f& e PIgE B 17,000
LA B4 39,000 & e ' E7F 11,000
E4H —ik 10,000 & 2 HF HY 55,000
HTH =— 10,000 &R R FH X 13,000
hE 1Ea 11,000 & e BE K 180,000
AH B 11,000 & e AE =T 22,000
HE BT 11,000 & e AR #X 11,000
HHE R 66,000 & 2 BA HE 13,000
IV =K oy 11,000 & 2 RA X 30,000
AE & 12,000 FEIEES WO 3 11,000
BH BF 12,000 & e I ERpEY 200,000
aE BFE 23,000 & R WA St 10,000
wE HIE 10,000 &k 2 hE BE 10,000
kB 22,000 & 2 Al BH 15,000
wE & 22,000 & e I R m— 30,000
NI HE 20,000 & e I MR ah— 10,000
KR = 20,000 & 2 fhik #h K BB 15,000
tH B 13,000 & R = 9,000
EN 10,000 & 2 O TR 22,000
=R 9,000 & e I i = 7,000
b = 22,000 YRS WER KB 10,000
KR Fi# 11,000 TGS By =E 22,000
B & 20,000 a8 " T 9,000
=)l 47 7,000 YRS A BE 34,000
HE FK 11,000 &k = A ETF 13,000
WA HEsE 22,000 &k = o EN 10,000




WEFR | B T TR

RS =R B 10,000
&k = 3= 9,000
&k = [EE S 10,000
&k = s BN 11,000
EERES EXR BF 52,000
EEEES TR XA 13,000
&k = WA BT 8,000
&k = B AR 11,000
RS hE B 3,000
(LS NTFOTRED 17,000
& 2 BEXR BF 62,000
2 R TH & 28,000
2 [ 2 BN BEFHE 39,000
& e 2 R ZFEX 13,000
LS e e 13,000
& 2 HH RHA 11,000
ERE REF —= 18,000
ERE BE & 9,000
EBE HE #E 11,000
= KA F— 10,000
EEER TH A 10,000
ERE BA AR 120,000
ERE M s 20,000
EEIE JEH N 42,000
= TEaR B 3,000
ERE BH M 65,000
R BH KF 12,000
RIFE A RX 12,000
RiEE ISE  5hfC 11,000
RIFLE R E 12,000
RIFE ISHE  ahfc 53,000
RIFE [Ny 11,000
RiEE £ 10,000
RiEE N 11,000
RIFE /NI 3,000

WEFR | BH EliE]
REARIR T ER 11,000
FEARIR 2N 10,000
FEARIR R F— 10,000
FEARIR NE ER 15,000
REARIR = Bk 12,000
REARIR W —se 18,000
EF N A AP 11,000
F:NL 5H 2% 12,000
REARIR W —se 12,000
REARIR SRR’ 15,000
REARIR AE =RA 22,000
FEARIR W —s2 9,000
AR mH R 18,000
KRR Ste & 10,000
KRR ZHEp 2R 22,000
KRR ZiE B8 11,000
AR R EIF 12,000
PN BB L3 20,000
KRR BMR 2 54,000
=IFE wE g7 11,000
= i IR H BHE 22,000
= g5 12 ha BF 35,000
= g5 12 BHE Kz 33,000
BRER |Z2E XRA 9,000
BREER |=2R M 15,000
BRSE |ZEHBE @K 10,000
BREER |B2R 195,000
BREER |2A Ht 20,000
BRESE | TH L& 17,000
BREERE |R"R B 36,000
BRESERE |RR BERE 72,000
BREE |hEF B 44,000
iR o Bt 24,000
iR HE R 10,000
1= =2 = 11,000




#E TR

&HE AT 22,000
T $RER 52,000
R E= 26,000
i [ S 3,000

R B 13,000




